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S.Y. M.C.A. (Management)
IT-32: DATA WAREHOUSINGAND DATA MINING
(Reviced 2020 Pattern) (Semester-111)

Time : 2% Hours| [Max. Murks : 50

Instructions to the candidates:
1) All questions are compulsory.

2) Prawncdt labeled diagram wherever necessary.

01) a) Diséus'é advantages & applications of data warehr)'yusc

5]

b) Define Schema. Describe fact consteltation Scﬁema with suitable example.
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4

OR“ -
¢)  Whatis OLAP? Explain ROQAV& MOLAP
d) Differentiate between data. v@arehou»e and OLTP systems.
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02) a)y Explain the need fQi‘ 3"&1 t;’a13€format10n & the steps involved in data

transformation dun}xg/ETL process.

b) Describe dlmcnslona]gyfreductlon in data pre-processing.
h OR

13

5]

¢)  Write types of attributes used in data pre-processing task & explain

propérties of attribute values.

d) Explain discretization & concept hirarchy gene-ration steps in ETL.

03) &) Whatis KDD? Explain how KDD is used in data mlmno
b) Define text mining Discuss types & stcps Ushd i texl mining.

OR
¢)  Write a note on any two data mining tools.
d)  Discuss web usage mining with its applications.
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Q4) a)  Consider the following data set & draw FP tree for minimum support=3 |5
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b) Cogﬁt@cr thex%*r/ne data setin Q.4.9 & calculate the support & confidence
for following rules. 5]
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b D
¢)  Apply Naive Baye's ClaSS¥tics on Below dataset for the instance: | Plant-
Type “Tree™, Flowessag™: No”, ( rigin - “east”) 5]
1D Plant type Stowennge Ongin - Medicipal-pro
‘ ype o UWCTNg g pai-prop |
’ I Tree ¥Yes Fast Yes
2 Tree L Yes Fast No -
3 Tree Yes East Yeés
4 Herb Yes Fast , No
S "Herb Yes West Yes
6% Herb No WSt J No
g 4
| 7 Herb No WSt~ \L%
8  Herb No East- No
) Tree No \ O
10 Tree Yes Yes
. . ,
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Write the algorithm for decision tree. Generate decision tree for
classification of credit card approval or rejection based on the attributes
- (5]

) Age »

i)  Income- Group
m) CIBI12- Score

e

Letsbea d:artaéet contammg speed in km/hr.
S={15 4ng5 30732, 35, 22, 24, 28, 30, 40. 48. 42, 34, 36, 45, 12. 20,

22, 45}"”App]y /){ -Means clustering for K=2 on the dataset [5]
Wﬁt?“a noteo/n Agglomerative clustering. [S]
N OR

Give the dataset “w™ containing weight of persons W=115, 20, 30, 35,
40,42, 43,18, 60,25, 28,32, 45.48,.50, ;. Apply K-means algorithm for
K=2. : [5]

Draw and explain Kimball's hite e¢Clediagram. [5]




